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a) Determine whether f is left continuous at 2. Show your work with limits. Explain (means use words and the
defiinition!) —
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¢) Determine whether f is continuous at 2. Explain using your work above.
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d) Determme whether f has a removable discontinuity at 2. Explain with appropriate limits or limit language.
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e) Determine whether f has a VA at 2. Explain with appropriate limits or limit language.
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f) Use interval notation to describe the intervals of continuity for f. ( — &~ yA ) U EZ 3 OQ)
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2. (Review your Quiz.) Determine lim —;x—l = Q\w\ \—_%__)é-— - J)AM —1X
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3. Evaluate these limits. Indicate where you used the composition rule for limits and where you used continuity of trig
or other functions. See Examples 10.1.21, 10.1.22, and 10.1.26 in the online Notes for Day 10.
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4. a) Test Review: Graph the set of porats4ifat satisfies both |z —2| <1and|y—1| <0.5.
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5. Use the Intermediate Value Theorem to show that f(z) = z2Inz = 5 at some point on the interval [1,e]. See

Examples 10.1.28-30 in the online notes. Be sure to explain carefully.
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